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HMEAE (%) 21.0 LUk 21.5 Lk 22.0 LIk
HUERG (%) 2.0 Pk 4.0 Pk 4.0 VE
Lk (%) 6.0 LT 5.0 BT 5.0 M
HLURSY (%) 8.0 LIF 7.0 BT 8.0 BT
T (%) 0.70 LI E 0.70 ULk 0.80 UIE
vy (%) 0.55 pIk 0.45 LIk 0.60 LIk
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e BEERNIENIEIE (%) 1.24 =+ 0.15 1.34 *+ 0.17 1.40 =+ 0.07
mEEE (%) 1.96 =+ 0.08 a 2.12 =+ 0.13 a 1.55 =+ 0.07
W& (cm) 106 + 2.0 104.1 =+ 4.2 111.4 =+ 3.7
e RERERNIE RIS (%) 1.67 =+ 0.09 1.65 = 0.28 1.51 =+ 0.09
EEE (%) 2.06 = 0.10 a 2.26 + 0.13 a 1.64 =+ 0.09
& (cm) 109.7 += 2.1 104.2 £+ 1.4 112.6 =+ 4.2
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